H & 0l & AHS B Ml A

Szelut
>HPH
St 2el (St SE3IH) (SH9: &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
clat 17,466,149 12,738,511 4,727,638
= 1,392,000
[ 5,345,000
Il 2,820,000
< 1,380,600
s 6,528,549
2d 17,466,149 12,738,511 4,727,638
= 1,392,000
s 5,345,000
Jl 2,820,000
= 1,380,600
[Ea 6,528,549
St=2el (St SE3IH) 17,466,149 12,738,511 4,727,638
= 1,392,000
s 5,345,000
Jl 2,820,000
= 1,380,600
[ia 6,528,549
o= 22| & 29 621,256 791,912 170,656
201 er23| 5,65 5,072 584
01 AtR2t2|HI 3,456 3,072 384
O ORIZSX 22|
9,0003 x4 +8L 120 3,456
02 S3=2g4l 2,200 2,000 200
O&ot== g3ald| 2,200,000 2,200
202 04l 9,600 3,840 5,760
01 =LHA I 9,600 3,840 5,760
Odt= RAE+ 28 0]
20,0002 x4 ~102* 1204 9,600
401 AlZHIZ S 0HHI 606,000 783,000 A177,000
01 AlZHI 606,000 780,000 174,000
O33ot=2H HES 190,000
—ot=2t =4 50,000,000& »14! 50,000
—of=2 2ASHES (=, HY AA)
70,000,000& *14] 70,000
—ot=2t 2ASHE(FAH, & A A
) 70,000,000 *14] 70,000
Odt==2tH XIEHEGH 24 50,000
—Xgtaot g 2
50,000,000& * 14| 50,000
OSAHEZY HAAMO AIAE 225,000
—SHEZZZAMAAAE S
45,000, 0003 #5042~ 225,000
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FA S2telt
3 Z2d
e©el: S22 (St SE3H) (S ® )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oti=&HlEE ARAIE & cotvES
20,000,000& » 14 20,000
OLRZ0test=MelALHH (72)
100,000,000 * 194 2 100,000
Oz S3ct=HelAlE et &E
= 21,000,000 21,000
BAJIEAE2E XA (Gl E) 4,426,000 4,112,000 314,000
Jl 1,895,000
o 2,531,000
307 el2to| & 4,426,000 4,112,000 314,000
) 1,895,000
o 2,531,000
05 2I2+RIE =S 4,426,000 4,112,000 314,000
OBBSI+HEIAE 22Ithe A 4,076,000
— &4 ZZEAHRIAIL
1,350,000,000& *14] 1,350,000
Jl 580,000
= 770,000
—&H S30l==XclAlE
1,756,000,000& * 141 1,756,000
) 927,000
2 829,000
—HA ZZEAHRIAIL
520,000,000& x14] 520,000
Jl 218,000
= 302,000
— 272 SEotHlAlE
450,000,000 * 14 450,000
) 170,000
o 280,000
O3 3dt=HMelAld 2208 Arg(2HI) 350,000
—&tKl SBot=XelAlE
200,000,000 x 14 200,000
—9e S3ot=X2lAlE
150,000,000 *14] 150,000
EAIIZAE2E KR (Gt==Hel&)(013) 1,231,000 1,342,030 A111,030
Jl 447,000
[Ea 784,000
201 =3 59,000 59,000
01 At2t2lt] 59,000 59,000
OZ3st=HelAld 222l
3,000,000& 3,000
OS&otxelAle 2elid o utE ot
56,000,000 * 14 56,000
401 Al HIZ R 0HbI 1,172,000 1,143,030 28,970
Jl 447,000
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A S2el
B LAY
el St 2el (st SE3IH) (CH9: /M)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
[ 725,000
01 Al&HI 1,172,000 1,143,030 28,970
OMSHZD| KXzl X
75,000,000 *3H 2~ 225,000
O33otHelAlE 2138 HE=
747,000,000& 747,000
| 447,000
2 300,000
Oslap2 Jl&xH B
200,000,000& 200,000
LeHelAlE 22| 3,630 3,630
201 Let23| 3,630 3,630
01 AtR2elt] 2,750 2,750
OLEHelAld =ZHZ A
25,0002 x109H 2 250
OJelsteXelAlE EE22 ME
500,000& 500
OR4HRIAL2SHY TE MRS 2
2,000,000& 2,000
02 324l 880 880 0
O&3SIE HREA OHIE R2BEYSE
2 *5500H*42 D | 880
HIEQANZAIH (QIBESX X L 22]) 44,823 44,139 684
| 31,000
[ 13,823
101 2124 d| 44,823 44,139 684
J| 31,000
[ 13,823
M IIZINZ22 NS Es 44,823 44,139 684
OeIZ&AX 2el eIfY 44,823
=Jl22 80,240 x2H x200 & 32,096
| 22,194
= 9,902
—SE5gsY 80,2403 x2H «45 7,222
J| 4,971
= 2,251
—AAXt= 80,2403 x2ZH » 10 1,605
| 1,105
= 500
=A== 3,900,000& 3,900
| 2,730
= 1,170
HIEQIAMZAIE (QIBEA X L 2e2])(Z2Hl) 3,000 18,800 A 15,800
201 B2 AY| 3,000 6,800 A3,800
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FA S2telt
Hu: SEH
e©el: S22 (St SE3H) (S ® )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,500 5,300 A3,800
OelEsAl HHES 7Y
1,500,000 1,500
02 S3=gHl 1,500 1,500 0
OelEssil dlks S 1,500,000& 1,500
=L HX ¥ 22/(ot=2AZ2FHI) (X7 otz 3,026,000 1,956,000 1,070,000
ZHIALY)
= 1,830,000
) 366,000
o 830,000
401 Al HIZ R 0HbI 3,026,000 1,956,000 1,070,000
[ 1,830,000
Jl 366,000
Ea 830,000
01 A28l 2,870,000 1,800,000 1,070,000
O+ ot ZHHIAHY
2,870,000,000& 2,870,000
[ 1,752,000
Jl 366,000
[Ea 752,000
02 Zcltl 155,000 165,000 0
OF=XlFote=2t2 EHHIAIY Zeld]
155,000,000 165,000
[ 78,000
[Ea 77,000
03 Al CHYI 1,000 1,000 0
O&==Xl7ot=22 HHIAIS AIE20HbI
1,000,000 1,000
=Col 41 & Zel(sHE OiSot=5 FHl) (2 1,174,840 1,079,000 95,840
)
= 765,000
Jl 81,000
[Ea 328,840
401 AIEHIX R0 1,174,840 1,079,000 95,840
= 765,000
v 81,000
= 328,840
01 Al&HI 1,173,840 1,078,000 95,840
2/SX+ OrSct=E FHIAY
1,173,840,000& 1,173,840
= 765,000
Jl 81,000
= 327,840
03 A2 2 0HYI 1,000 1,000 0
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FA S2telt
B LAY
CHol: Bl TR (Sl E S s H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2g X7 OtSot=x EBIAY AIE 20|
1,000,000 1,000
s01E OtSot== A (RHA) 603,000 2,303,000 21,700,000
401 AIEHIX R0 603,000 2,303,000 21,700,000
01 A28l 600,000 2,300,000 A1,700,000
O3AMS0ISotr= FHIAIE
600,000,000 *14] 600,000
03 AlE220HHI 3,000 3,000 0
O=0E 0t25t=SFHIAIY Al =20
3,000,000& 3,000
St=Eo &1 ¥ 2el(sHE DiSot+==8H) (S0t 546,000 167,000 379,000
S5t+=E=FHl)
= 327,000
S 109,000
= 110,000
401 AlZHIZ SO 546,000 167,000 379,000
= 327,000
[ 109,000
Ea 110,000
01 Al&HI 545,000 166,000 379,000
O=ds0E0IS0t+5 JHIAE
545,000,000 545,000
= 327,000
< 109,000
[Ea 109,000
03 Al 20HHI 1,000 1,000 0
OsdEs0HEOS0ot+=dHIAIE AIE2
af 1,000,000 1,000
St=ol X & 2A2(St=2A28HI) (ZAH X7 ot 4,686,600 833,000 3,853,600
ZHHIAY)
[ 3,515,000
= 1,171,600
401 A2 HIZL R 0HbI 4,686,600 833,000 3,853,600
= 3,515,000
= 1,171,600
01 Al&H| 4,686,600 833,000 3,853,600
OFAKXIF ot==2Z HHIAIY
4,686,600,000& 4,686,600
= 3,515,000
[ 1,171,600
g+ o= JIZ2HE HE =8 600,000 600,000
401 Al HIZ S OHbI 600,000 600,000
01 A28l 600,000 600,000
Odt=E JIZ2AHE HE =8
600,000,000& *14] 600,000
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FA S2telt
3 Z2d
e©el: S22 (St SE3H) (S ® )
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
ShCol Mx o 2el(GHER 2RI (HEE st 500,000 500,000
2 FHIAY)
= 300,000
[ 100,000
T 100,000
401 Al HIZL 201 500,000 500,000
= 300,000
== 100,000
o 100,000
01 Al&HI 500,000 500,000
OBt ltS of=22 FHIAY
500,000,000 500,000
= 300,000
s 100,000
s 100,000
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